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GEOGRAPHY HSSC-II
SECTION — A (Marks 17)

Time allowed: 25 Minutes

NOTE:- Section—A is compulsory . All parts of this section are to be answered on the question paper itself.
It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i)

(i)

(iii)

(iv)

(vi)

(vii)

(viii)

(ix)

(xi)

(xii)

(xiii)

(xiv)

(xv)

(xvi)

(xvii)

Frozen Ocean is the name given to the

A Arctic Ocean  B. Antarctic OceanC. Baltic Sea D. East Siberian Sea
Riyadh is the capital of

A. China B. Great Britain  C. Saudi Arabia D. U.S.A.
Boreal type of climate is found in Asia's

A South B. East C. West D. North

About 20% of the world population lives in

A Asia B. North America C. Europe D. South America
10 degree C isotherms do not pass through the continent of

A Africa B. Australia C. Asia B. Europe

What is the best description for the relief of Australia?

A High mountains and plateaus B. Low tablelands and vast plains

C. Low mountains and low tablelands D. Vast plains

The driest desert of the world is

A Atacama B. Kalahari C. Namib D. Sahara

Half of the population of South America lives in

A. Brazil B. Chile C. Argentina D. Venezuela
Mount Blanc is one of the most important peaks of Europe because of its

A Glaciers B. Height C. Rivers D. Scenic beauty
Which of the following describes the European coastline?

A. It is irregular B. It is long and irregular

C. It is 10,000 miles long D. It is bordered by many seas and gulfs
Which of the following is a great western tributary of the Mississippi river?

A. St. Lawrence B. Mackenzie C. Missouri D. Hudson
Which of the following is the largest river basin in the world?

A The Rhine basin B. The Ganges basin

C. The Mississippi basin D. The Amazon basin

Salt range lies in the of Potwar plateau.

A South B. North C. East b. West
Pakistan is the largest producer of cotton in the world.

A 2nd B. 7th C. 4th D. 3rd

Most of the population of Saudi Arabia is concentrated on its coastal areas.
A. Western B. Eastern C. Southern B Northern

Transportation routes by lake Superior, iron ore from Mesabi and coal from Appalachian has helped
industrial development in

A Great lake region B. Lower great lake region

C. Atlantic coastal region D. Pittsburg region

The total area of China covered by mountains is about

A. 10% B. 20% C. 33% D. 55%
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GEOGRAPHY HSSC-II

Time allowed: 2:35 Hours Total Marks Sections B and C: 68

NOTE:- Answer any fourteen parts from Section ‘B’ and any two questions from Section ‘C’ on the
separately provided answer book. Use supplementary answer sheet ie. Sheet-B if required.
Write your answers neatly and legibly.

SECTION - B (Marks 42)

Q.2 Attempt any FOURTEEN parts. The answer to each part should not exceed 3to 4 lines. (14x3=42)

(i)

(i)
(iii)
(iv)
(v)
(vi)

Write down any three characteristics of the African Rift Valley System.

Why is the Tropical rain forest restricted to the Central and Western Africa only?

Write a short note on the Western fold mountain system of the Andes in South America.
Who are Bedouins?

Write a short note on any two cash crops of Pakistan.

Write a short note on the gas exploration in the Lower Indus Plain.

(vii) Write briefly the causes of rural-urban migration in Pakistan.

(vii)  Give any two reasons for huge expansion in cement industry in Saudi Arabia.

(ix) What are the salient features of Saudi Arabia's agricultural policies to boost agriculture in the desert
Kingdom?

(%) How has China produced hydro-electric energy from its immense natural resources?

(xi) Name any three chief export and three chief import items of China.

(xii) Write down the names of the continents labelled |, 1l and lil in the following world map, on your
answer book:

(xiiy  Write a short note on the Appalachian Mountains.

(xiv)  How is the Spring wheat belt different from the Winter wheat belt in USA?

(xv) What is the agricultural importance of the Murray-Darling basin in Australia?

(xvi)  Write briefly about any one of the non-conventional sources of energy in Pakistan.

(xvii)  Give any two reasons for very high population density found in large urban centers of Pakistan.

(xvii) Name the three rivers flowing into the Mediterranean Sea or Black sea.

(xix) Name the warm and cold ocean currents which are responsible for shaping the climate of
South American continent.

SECTION — C (Marks 26)
Note:- Attempt any TWO questions. All questions carry equal marks. (2 x 13 = 26)

Q.3 Discuss how population growth is creating major environmental problems in urban areas of Pakistan.

Q.4 Write a detailed note on the Industrial development of USA.

Q.5 \Write a note on the non-ferrous mineral resources of China and their role in China's manufacturing industry.
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